OTHER LICENCE FEES					
Civic & Miscellaneous	Licence Cost	Proposed Value	Actual No. of Licences	Projected Income	Projected Income
	2014/15	2015/16	2014/15	2014/15	2015/16
	£	£	£	£	£
Public Entertainment					
(3 years)	T				
Grant of Licence	695	695			
Discounted grant fee*	174	174			
Renewal of Licence	530	530	40	9,187	7,067
Discounted renewal fee*	132	132	21		2,772
Variation	284	284			
Discounted	71	71			
Temporary/Variation fee					
Temporary Licence	324	324			
Discounted Temporary	81	81	10	-	810
Licence					
Indoor Sports					
Entertainment					
Grant of Licence	695	695			
Renewal of Licence	530	530	7	1,766	1,237
Variation	273	273			
Temporary Licence	324	324			
Boat Hire					
Grant of Licence	169	169			
Renewal of Licence	147	147	0		0
			U		0
Temporary Licence	94	94			
Market Operator					
(3 Years) Private					
Grant of Licence	327	327			
Renewal of Licence	219	219	12	949	2,628
Temporary Licence	329	329	<u> </u>	0.0	_,-,
Variation	120	120			
Market Operator					
(3 Years) Public					
Grant of Licence	879	879			
Renewal of Licence	567	567	4	756	756
Temporary Licence	879	879			
Variation	407	407			

OTHER LICENCE FEES					
Civic & Miscellaneous	Licence Cost	Proposed Value	Actual No. of Licences	Projected Income	Projected Income
	2014/15	2015/16	2014/15	2014/15	2015/16
	£	£	£	£	£
Late Hours Catering	~	~	~	~	~
(3 Years)					
Grant of Licence	214	214			
Renewal of Licence	182	182	95	5,642	5,763
Temporary Licence	82	82		- , -	
Variation	99	99			
Street Traders					
Grant/Renewal (Employer)	178	178	87	14,774	15,486
Grant/Renewal (Employee)	103	103	54	4,223	5,562
Temporary Licence	103	103		,	,
Substitution of Vehicle					
in Licence	125	125			
Additional Vehicle in					
Licence	57	57			
Consent for material					
alteration to vehicle		103			
Variation of Licence		108			
Advert (Hot Food)		100			
Sex Shop					
Grant of Licence	5,250	5,250			
Renewal of Licence	3,150	3,150	3	9,450	9,450
Second-Hand Dealers (3 Years)					
Gant of Licence	210	210			
Renewal of Licence	184	184	118	6,808	7,237
Temporary Licence	97	97			
Variation	110	110			
Window Cleaner (3 Years)					
Grant of Licence	170	170			
Renewal of Licence	149	149	77	4,420	3,824
Temporary Licence	27	27			
Metal Dealers (Incl. Itinerant) (3 Years)					
Grant of Licence	186	186			
Renewal of Licence	159	159	9	636	1, 431
Temporary Licence	98	98			
Variation	79	79			

OTHER LICENCE FEES					
Civic & Miscellaneous	Licence Cost	Proposed Value	Actual No. of Licences	Projected Income	Projected Income
	2014/15	2015/16	2014/15	2014/15	2015/16
	£	£	£	£	£
Cinemas Act 1985					
Grant of Licence/Renewal		600	4	2,400	2,400
Renewal of Licence/Month	200	200			
Transfer of Licence	120	120			
Temporary (1 Month)		200			
Theatres Act 1968 (Non-Educational)					
Grant of Licence	750	750			
Renewal of Licence	573	573	7	4,011	4,011
Variation	367	367			
Transfer of Licence	198	198			
Temporary Licence	294	294			
Miscellaneous					
Variation of Zone (Civic)	110	110			
Consent for Material Alteration	175	175	0		
Consent for Material					
Alteration (Change of	50	50			
Manager)	50	50			
Certified Copy Licence		17			
Tattooing (3 Years)					
Grant of Licence	325	325			
Renewal of Licence	277	277	70	5,817	6,463
Temporary Licence	130	130			
Taxi Booking Offices (3 Years)					
Grant of Licence	218	218			
Renewal of Licence	191	191	11	637	700
Temporary Licence	101	101			
Non-Domestic Knives & Swords (3 Years)					
Grant of Licence	218	218			
Renewal of Licence	191	191	8	509	509
Temporary Licence	101	101			

*	The Committee resolved in January 2012 to apply from 1 April 2012 a fee reduction of 75% in respect of all public entertainment licence applications (Grant, Renewal and Temporary) from community, charity, voluntary and religious groups.			